V. COCJIATATEJIbHOE HAKJIOHEHHUE, YCJIOBHBIE
HNPENJIOKEHUA U PASJIMYHBIE CJIYYAU
YIIOTPEBJIEHUS I'JIAI'OJIOB SHOULD 1 WOULD

CocmaraTrenbHOoe HAKJIOHCHHE BBIpakKaeT ACHCTBHE, KOTO-
poe TOBOPAIIUK paccMaTPUBaeT KaK MpPEArnojaracMoc HIIH
skenaTtenbHoe. CoclaratelIbHOS HAKIIOHCHUE HCIIONB3YETCS B
TeX CIydYasX, KOrJa BBIPAKAIOTCSA: COMHEHHME, HEYBEPCH-
HOCTb, IIPEITTOJIOKEHHE, 00YCIOBICHHOCTD MIIM IPHKa3aHHE,
COBET, TpeOOBaHUE, YYBCTBO PAJOCTH WIIA COKAJICHUS.

1. ®opmbI cocnaraTeIbHOT0 HAKJIOHEHUS

A. Cunrernueckue ¢Gopmbl

be

were

he }

she } - give
it }

1) T'maroxa to be umeer popmy be mug Bcex nui B
HACTOSIIEM BpeEMEHH U popMy WEre i BCeX JIHI[ B PO
IIEeIIIEM BPEMEHH.

2) Cunrernyeckue GOpPMBI COCITAraTeIbHOIO HAKIIOHE
HUS OCTaJBHBIX TJIar0J0B COBIIAAAIOT ¢ HOPMaMU U3BABU
TENIBHOTO HAKJIOHEHHs B HacrosiieM Bpemenu (Present
Indefinite), 3a uckmrouenueM Gopmsel 3-ro J1. €. 4., B KO
TOPOUH OTCYTCTBYET OKOHUYAHHE -S.
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b. AHaanutuueckue @Qopmbl

should }
would } + uHGUHUTHB MU Iep(EKTHBIH
may, might } wuHuHHTHB Oe3 yacTHUIBI 1O

1) Usmensromuecs mo gunam raaroisr should (1-e .
en. u MH. 4.) 1 would (2-e u 3-¢ 1. en. u MH. 4.) + HH
(uHuTHUB 6e3 yacTHilsl to.

2) He wsmensromuecs 1o jgummaMm riaaroisl  should,
would + uaduauTHB 6€3 YacTHIH to.

2. Ynorpeodaenue ¢popm cociaraTeIbHOro
HAKJIOHEHUS

A. YmorpebneHne CHHTETHYECKHX (OPM.

1) ®opma cocaaraTeabHOro HakjaoHeHHs be ymorpebis-
eTesL:

a) B IMIPHUJATOYHOUN YaCTH yCIOBHBIX MPEJIOKEHUMN, TS
OHA TePEBOIUTCS N3bSIBUTEIHHBIM HAKIIOHEHUEM:

If the distance between the two points be the same, no
further experiments will be necessary.

Ecnu paccrosinue MEXIy STUMH JIBYMS TOYKaMHU Oydem
00UHAKOBbIM, HE TOTPeOyeTCs HUKAKMX MalbHEHIIMX 3KC-
MIEPUMEHTOB;

0) B MPHUIATOYHBIX MPEIOKEHUSAX TIOCIE OE3THUHBIX
npeIoKeHni Trma it is necessary:

It is important that the law be observed.

Baoicno, umobul cobniooancsi 3TOT 3aKOH;

B) B JONOJHUTEIBHBIX HPHUIATOYHBIX MPEUIOKEHHSXK, 3a-
BUCAILIMX OT TJIarojioB WJIM OTIJIArOJIbHBIX CYIIECTBUTEIb-
HBIX B TJIABHOM IMPEJUIOKEHUM CO 3HAYEHUEM IpPUKA3aHUS,
coBeTa, TPeOOBAHMS, MPEATIONOKECHUS W T. J. WIH YyBCTBa
YJUBIJIEHUS, paJIOCTH, COXKAJICHHUS:

It was suggested that the question be discussed immediately.
Ilpednoscunu, umobwvl BONIPOC 006CYyHcOaNCs HEMEIJICHHO;
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T) B IPUIATOYHBIX MPEITOKCHUIX TICITH:

We must keep this gas in a special vessel lest it be
evaporated.

MpbI 10JKHBI coiep KaTh 3TOT ra3 B CHEIUAILHOM COCY/IE,
1lm06bl OH He ucnapujcs,

I[) B YCTYNHUTECIIbHBIX NIPCIJIOKCHUAX !

Be it ever so humble there is no place like home.
Kakum 6b1 CKpOMHBIM Hu Obl1 TOM, HET €TO JTydIle.

2) dopmMa coclarateIbHOr0 HAKJIOHCHUsT WEre ymoTtpeo-
JISIETCS TIIABHBIM 00pa3oM:

a) B IPUAATOYHOM YaCTH YCIOBHBIX NMPEIOKEHUH:

If the acid were purified the raction would take place. Eciu
Obl KUCTIOTA OblIa OuUUjeHd, PEaKIUs MPOU30IILIa ObL,

0) B IPUIATOYHBIX CPABHUTEIBHBIX MPEAI0KECHHUSIX ITOCTIC
coro3a as if;

It was so cold, as if it were winter.
Bru10 Tak X0JI0JIHO, Kak 6yOmo Obiia 3uMa.

HpHMeanMe. YHOTDC6HGHI/I6 cocjlaraTejJbHOT0 HAaKJIOHCHU d)op-
MEbI be XapaKTEpPHO TOJBKO IJid MUChMEHHOM peuu.

b. YnmorpebneHnue aHanuTH4YeCKUX (GOPM.

1) U3menstomuecs 1o JIMIAM aHAJIUTHYECKHE (OPMBI
COCJIAraTeJIbHOTO HAKJIIOHEHHS C BCIOMOTATEJIbHBIMH TIJa-
roigamu should u would ymorpe6:strorcest:

a) B IJIaBHOM YacTH YCJIIOBHBIX npez[non(eHHﬁ:

If they came, | should be glad.
Ecnu Obl OHM NpHUILIH, 5 ObL1 Obl paj.

If they came, he would be glad.
Ecnu Obl OHH NPHILIHA, OH Obll Obl paj;

0) B IPOCTHIX MPEITOKEHUAX:

We should make this remark in the separate section of
the book.
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MHE1 coenanu 61 3TO 3aME€UaHUE B 0COOOM pasiesc JaH-
HOW KHUTH.

There would be no life without water.
bes Boabl HE 66110 OBl KU3HU.

2) Ananmutrdeckas ¢popMa cocaaraTeIbHOTO HAaKJIOHCHHS
¢ BcrmomorartensHeIM rinaroniom should co Bcemm nuamm
YIOTpEOIseTCS:

a) B MPUAATOYHBIX NPCATOKCHUAX ITOCIIC 0O€e3IMYHBIX
MpeIIoXKeH i Thma it iS necessary:

It is necessary that the substance should be pure.
Heobxo0umo, 4TOOBL BEMIECTBO ObIIO YUCBIM,

0) B IOTNOJHHUTEIBHBIX MTPHIATOYHBIX MPEATIOKEHIX, 3a
BUCSIINX OT IJ1arojioB WK OTIJIArOJbHBIX CYIIECTBUTEIb
HBIX B TJIABHOM IPEJJIOKCHUHU CO 3HAUCHUEM MPUKA3aHUs,
coBeTa, TPeOOBaHMS, NMPEII0KCHUS U T. 1. WU YyBCTBa
YAUBIEHUSI, PAJIOCTH, COKAJICHHUS:

He advised that the students should read this book. On
coeemoeai, lim06bl CTYI[CHTLI npodiu 3Ty KHI/IFy;

B) B IPHUIATOYHBIX HPEUIOKEHUAX IIENHN TIOCTIE COIO30B
S0 that — ymo6w1, lest — ymobwr ... ne:

Make haste lest you should be late.
Toponutecs, umobsl He ono30amv;

I) B IPUJATOYHON YaCTH YCIOBHBIX MPEATOKESHUM IS
BBIPAKECHMSI MAJION BEPOSITHOCTU OCYIIECTBICHUS YCIOBUS:

We don't expect him to come, but if he should come,
ask' him to wait.

Mp&I He HajeeMcs, YTO OH NPUIET, HO €CITU OH (BCe-TaKH)
npuodem, TIOMPOCUTE €TO MO0XKIATh.

IIpumeuanne. B GonpuimHCTBE CiiydaeB GOPMBI COCIAraTeabHOTo
HAKJIOHEHHs TEPEeAaoTCs Ha PYCCKUHM S3BIK TAKKe COclararelbHBIM Ha-
KIIOHEHHEM, 2 UMEHHO ()OPMOM T1arojia MpOIIEANero BpeMEeH! + dac-
THIA 6bl, KOTOpAsi CIUBAETCS C COIO30M UmMo.
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Jlexcuka

3anmoMHHTE 3HAUYEHHE CGJIeIyinux rjaroJjioB, mocjie Ko-
TOPbIX YaCTO yl'lOTpeﬁ.]'lﬂlOTCﬂ d)Oprl cocjaraTreJibHOro Ha-
KJIOHCHUSA:

advise — COBETOBaTh
demand — TpeboBaTth
desire — XOTETh, XKeJIaTh
insist — HacTauBaTh
order — MpPHUKa3bIBaTh
propose — Tpejajarath
request — TPOCHTH, IpEIaraTh
require — TPHUKAa3bIBaTh, TPEOOBATH
suggest — Tpeaiarath, Mpeanoaarath
suppose — Tpeanosarath
want }
} — XOTETb, JKEJIaTh
wish  }

3anoMHuUTE 3HAYEHHUsI CJEIYIOIIHX HeoNpeaeIeHHO-InY-
HBIX NMpeNJI0:KeHUI, Mocjie KOTOPBIX YacTO YNOTPeO IsIIoTCsA
(hopMBbI cociaraTeJibHOro HAKJIOH€EHHSI:

it is necessary — HE00X0IUMO

it is important — BaXHO

it is of importance  — Baxxno

it is essential — CYIIECTBEHHO

it is desirable — JKeNaTesbHO

itis strange } — CTpPaHHO, YAMBUTEIbHO
it is surprising }

itis likely — BEPOSATHO

it is unlikely — MaJIOBEPOSATHO; B JIX
it is probable — BEPOSTHO

3anoMHuTe 3HAYEHNUA CJAETYIOIHI COI030B, 0OBIYHO Tpe-
OYIOIIMX YIOTPeO/IeH sl COCJIAraTeIbHOT0 HAKJIOHEHHA:

in order that } — JUTS TOTO YTOOBI
that }
as if }

} — xak 6yaTo GBI
as though }
so that — TaK 4TOOBI
lest — YTOOBI ... HE
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Ynpasicnenua
|

IlepeBenuTe cieayOmue NpeaIoKeHUsl. YKaKuTe B HUX (opmy co-
cJIaraTeJibHOr0 HAKJIOHEHHSI:

1. It is necessary that the type of the reaction be
determined.
2. It is suggested that only logarithmic plots for each
point be made.
3. It is essential that the substance be chemically pure.
4. We dilute the acid lest it be too strong.
5. If there were no air the stone and the piece of
paper would fall together.
6. | should give you a lot of examples without
any difficulty.
7. It is unlikely that the reaction should occur.
8. It is desirable that this method should be
recommended.
9. This would result in hydrogen abstraction reaction
taking place.

IlepeBeauTe clieAylomue MpeIIoKeHUsI W OMNpeaenTe, 4YeM B HHX
BBIPA’KeHO cOCJIaraTeJibHOe HAKJIOHEHHe:

10. The absolute zero is the temperature at which an
ideal gas would have zero volume at any finite pressure.

11. Suppose, just for the sake of an argument that the
large ball should come to rest after the impact.

12. The world itself behaves as if it were an enormous
but weak magnet.

13. It is necessary that atomic energy should be used for
industrial purposes.

14. It would be out of place here to give more than a
summary of the work that has been done.

15. Don't expose hydrogen peroxide to the air, lest it
should decompose.

16. The geometric properties of crystal are the same
whether a crystal be large or small.

17. Electrons at less than a million volts would reach
practically a constant speed, almost that of light.

18. Magnetism is very often treated as if it were a subject
as fundamental as electricity.
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19. It is natural that aluminium should receive a great
amount of attention from research workers with a view to
improving the mechanical properties of the metal.

3. Ycii0BHBIE NIPEAJIOKEHUSI

A. YCJIOBHBIE NOPEIIOKEHHUS, BBOIHUMBIE CO-
I03aMHU.

1) B npuaaTo4YHOM NPEIOKEHNH YCIOBHS YIIOTPEOIsS
FOTCSI pa3InyHbie POPMBI COCIAraTeIbBHOTO HAKJIOHCHHMS:

a) cuHTeTHYecKue Gpopmel be, were, ¢opma rinarona B
3-M 1. ell. 4. HACTOSIIEeTO BpeMeH: 0e3 OKOHJaHUS -S.

If it be necessary to determine the time...
Ecnu Heobxooumo onpenenuTs Bpemsi...

If I were you...
Ecinu 6w 5 6611 HA BalllEM MECTE...

0) aHamuTHYecKas (hopMa cocraraTeIbHOTr0 HaAKJIOHCHUS
¢ rimarojom should miist BeIpaskeHuss Maaoil BEpOSTHOCTH
YCJIOBUS:

If you should see him, ask him to wait. Eciu BsI ero

yeuoume (4TO MaJIOBEPOSATHO), MOMPOCUTE €TI0 MOT0KAATh.

2) B riaaBHOM NpeIoKeHNH (CIEICTBHH) YIIOTPEOIS
forcs ananutnaeckue Gpopmer Should u would ¢ cootsetcT
BYIOIIUMHU JINI[AMH:

If | had this book, I should give it to you.

Ecnu 6v1 y MeHs1 Oblna 9Ta KHUTA, S Ob1 €€ BaM 0d.l.
If he were here he would come.

Ecau 6v1 oH Ov11 31€CH, OH ObI NpULLE.

Jnst BBIpaKEHUS MPEITIONIOKUTENBHOTO YCIOBHUS, OTHO-
CAIICTOCA K HACTOAIIEMY BpPEMCHH, B NMPHUIATOYHOM IIPECI-
noxennu ynorpebdisiercs popma Past Indefinite, a B rmasaom
npemiokennn — coueranne should wmm would ¢ urbHHI-
TUBOM:
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If I had this book, I should give it to you.
Ecnu 6b1 y MeHS 6bl1a 5Ta KHHUTA, 51 Obl €€ BaM 0dJl.

JInst BBIpQKEHUS TIPEIIIOIOKHUTEIBHOTO YCIOBUS, OTHO-
CSIIETOCs K MPOILIEIIIEMY BPEMEHH, CKazyeMoe MpHIaTod-
Horo mpemroxenus umeer (opmy Past Perfect, a rmaBHoro
mpemmoxenust should wam would ¢ mephexTHEIM HHbHHN-
THBOM:

If he had had time yesterday, he would have completed the
experiment.

Ecnu 6s1 y Hero Buepa OwvL10 BpeMsl, OH 3aKOHYUL Obl
OIIBIT.

IMpumeuanue 1. B yclIOBHBIX NPEMIOKEHHIX MECTO BCIOMOTra-
TenpHBIX TarosoB should m would B rmaBHOM NpennoXKeHMH MOTYT
yIoTpeOIATEC MOZANbHEIE Tarossl Might mmm could, xoTopeie mepe-
BOJATCS Ha PYCCKUI SA3BIK Moz Obl, Mo2nu 6bl, a Taxke eeposmuo (might)
i negeposimuo (could not):

If he had been given opportunity, the work might have been finished. Eciiu
66l €My Oa/iu BOBMOXKHOCTh, paboTa, 8eposimuo, Ovlia Obl 3aKOHUEHA.

B ycnoBHBIX MpenyioKeHUsX OYeHb YacTO HCIONb3YEeTCS
U3BABUTENIHOE, a MHOT/IA M TOBEJIUTENHHOE HAKJIOHEHHE.
Takoe ycnoBue OOBIYHO OTHOCHUTCS K HACTOSILEMY WM
OyayumieMy BpPEMEHH M Ha PYCCKHH SI3BIK IMEpElacTcsi M3b-
SIBUTEJIbHBIM HaKJIOHEHUEM:

If | have time, | shall complete the experiment.
Ecnu y MmeHst 6ydem BpeMsl, 1 3aKOHY)Y OTIBIT.

If you see him, ask him to come.
Ecnu BHI ero yguoume, nonpocume ero NpuiTH.

IIpumeuanue 2. Eciu B TIaBHOW YacTH yCJIOBHOTO TPEIIOXKCHHUS
BBIpaykaeTcs JOJDKEHCTBOBAaHHE, TO COCTABHOE MOJANbHOE CKa3zyemoe
(be + nHOUHATHB) OOBLIYHO YKA3HIBACT HA JKEJIaHHE, 1€, CTPEMICHUE
CO CTOPOHBI JEHCTBYIONIETO JIMIA OCYIIECTBUTH JCHCTBUE, BHIPAXKEHHOE
CKa3yeMbIM MPHIATOYHOTO MPeUIoKeHHsT (0OBIYHO B CTpaJaTEIbHOM 3a-
nore):

If a compound is to be purified, it should be heated.
Ecnu xomsam ouucmumeo BCIICCTBO, €Iro czlebyem Hazcpemso.
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Jlexcuka

3anoMHuTeE nmepeBoa C0r030B, BBOAAIIIMNX YCJI0BHBIC IIPEI-
JIOKCHUSA

if — ecnu

unless — €CJIN... He

in case — B Clly4ae, eCiiu

provided, provided that, } — TIPH yCJIOBUH, €CITH

providing, providing that } (uro)

on condition, on condition — MPHU YCIOBHH, €CIIN
that (uro)

even though — Jaxe, eciu

suppose, supposing — NIPEAIOJIOKUM, YTO,

Ipeanoaras, uro

Ynpaosrcnenue

HepeBeunTe cjeayrimme yCJI0BHbIC MPEAJT0KEeHHUsI B 3AaBUCHMOCTH OT
q)Oprl CKa3yeMoro riiaBHOro npeajioKeHusi:

1. If the model fits well, the observed data will be correct.

2. One will easily calculate the volume, if he knows the
dimensions of the body.

3. If life existed on Venus, v/e should know this.

4. Unless computer techniques had been developed, space
research would have never made such great progress.

5. If the life had come to the so-called equilibrium, it
would never have progressed beyond the amoeba.

6. A valuable contribution would be made, if considerable
efforts were devoted to the theoretic examination.

7. Unless the widening were small, this spectrum would
not be very faint compared with others.

b. beccow3Hnbie ycHOBHBIE
npeaoKeHns.

B 0eccoro3HbIX YCIOBHBIX MPUIATOYHBIX MPETOKEHHUIX
MOPSIOK CIIOB 0OPATHBIN; CKa3yeMoe WM 4acTh CKa3yeMoro,
BBIpaXKeHHBIC Taaromamu Were, had, should, crost mepen
nojuiexamuM. [lepeBol TakuxX TMpPeUIOKEHHI ClelyeT Ha-
YHHATH C COI03a eciu Obl (ecau) WU CIOB 0)0b, UMell.
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Jlekcuka

3anmomMHuTe cileaywiuue coueTanusd CJI0B:

but for
if it were not for }
were it not for } — ecnu ObI He
if it had not been for }
had it not been for }
Ynpasrcnenue

IlepeBeanTe ciieayoiue ycJoBHbIE Mpemiokenus. O0bsicHUTE, TOYEMY
B HUX MOKeT OBbITh ONYIIEH COI3:

1. Were one electron removed, a net positive charge would
be left.

2. Had the degree of evaporation been high, the salinity
of water would have been rising.

3. But for radioastronomy, we should have never made
the remarkable discoveries in the Universe.

4. There would be no increase in current at all, were it
not for a small effect of voltage.

4. TloBTOpEHNE YCITOBHBIX NMPET0KEHU T

Vnpaosicnenue

IlepeBenuTe ciieaylomme NpeIJoKeHHsI B 3aBHCHMOCTH OT GOpMBI
CKa3yeMOro B IJIAaBHOM H MPHAATOYHOM MpPeIT0KEHUsIX:

1. Should it be desirable to divide the powder of two
substances, several ways are possible.

2. It would be worth while investigating the substance
mentioned, provided we could get it in sufficient quantity.

3. Should your work meet these conditions, it will be of
great service to our industry.

4. Unless the cathode C is water cooled, it will overheat
and emit gases.

5. Had it not been for a large size of this body, we should
have already weighed it on our pan.

6. If a compass needle were sensitive enough, it would
swing back and forth as the waves went on.
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7. But for space meteorological stations we would not be
able to observe the formation of hurricanes.

8. Provided one knows the rate of the emission, one can
determine the range of the particles.

9. If the results of their molecular weight determination
had been accredited, the concept of giant molecular structures
might have been established long before the 1930 s.

10. On Venus were it not for the horrid humid climate,
we should probably feel quite at home.

11. If atomic nuclei contain electrons, their charges should
be always whole multiples of the electronic charge.

12. Had this warning been heeded, the reaction might
have taken quite a different turn.

13. Providing that a profound change were to occur, slip
ought to take place along the direction of maximum stress.

14. When an object is dropped it seems to go faster at
least if it be large and massive.

15. If the neutron and proton had the same mass, and
if the Coulomb energy were completely negligible, there
should be a definite correlation between the energy levels
of isobars.

16. The increase in mass is so small that the whole
phenomenon might be regarded as trivial were it not for the
attention that had been directed to the very large amounts
of energy that could be made available if mass were converted
into energy on any appreciable scale.

17. If two hydrogen atoms were to collide each should
seek an additional electron.

5. AHaam3 yCJIOBHBIX P eAJIOKEeHUI
€ TOYKH 3peHus YNnoTpedJeHuss B HUX
(hopM cocaratesibHOro HAKJIOHEHH

Ynpasicnenusn

|
IepeBenuTe cieayromme npeIoKeHusl, 0dpaiasi BHUMaHue Ha gopmy be:

1. If concentrated sulphuric acid be mixed with hydrogen
at Iovx1 te(rjnperature to prevent heating, oxygen rich in ozone
is evolved.
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2. If the force x be increased by the factor z all the
velocities will be increased.

HepeBeunTe cjaeayroumme nmpeajioKeHus, oﬁpamaa BHUMaHHE HA yIIOT-
pedsenne raaroaa should:

3. Should the content of this volume prove of any assistance
to the students, the author will feel amply rewarded.

4. If one is interested in further details, one of the
numerous texts in the bibliography should be consulted.

5. If all the people of the world should count the atoms
in a drop of water, they would not be able to finish their
work even in ten thousand years.

IepeBenuTe ciaeayoiue NpeaIoKeHUs, 00paLiasi BHUMAHHE HA Mpe/-
Jgor but for u Ha ciyyau oTCyTCTBHS COKO3a:

6. But for the luminosity of this substance it would be
difficult to detect its properties.

7. There would be no increase in current, were it not for
a small effect of voltage upon the evaporation rate.

8. The hydrocarbon particles would have coalesced had
it not been for a layer of non-rubber constituents.

v

IlepeBeauTe ciieayroniue npeaioKeHusi, odpamasi BHUMaHue Ha (pyH-
KIMIO IJ1aroJia Were:

9. If every star in the sky were to shine with the same
degree of brightness, the distance to any star could readily
be estimated.

10. The whole phenomenon might be regarded as trivial
were it not for the large amount of energy that could be
made available if mass were converted into energy on any
appreciable scale.

11. If high energy X- or gamma-radiation were to be
measured, a measurement would have to be made of the
total dose produced by the secondary electron.
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6. Ynorpe6.sienue u nepeso ruaroJja should

1. Should ymotpebnsiercst myst 00pa3oBaHus rIaroabLHOro
Bpemenu Future in the Past (¢ 1-m nuom):

We decided that we should meet in February.
MEI peruiny, 94To scmpemuicsi B heBpaie.

2. B ycnoBHBIX TpeqioxeHusx (¢ 1-M aurom):
If it were my book, | should give it to you.
Ecnu ObI 5TO OBLIIA MOSI KHHTA, I Obl 0ald €€ BaM.

I should have done this work, in case | had been informed
before.

S 6vt 6vinonnuna 3ty padboTy, eciau OBl S y3HAJIA 00 3TOM
3apaHee.

3. B mpuaaTo4YHBIX NpEeIIoKEeHHUSIX MOCie OS3MNIHBIX
npeIoKeHuid Trma it IS necessary.

It is important that you should do the work yourself.

BaxxHo, 9TOOBI BB cOenanu 3Ty paboTy camu.

4. B npuaaTOYHBIX OPEIIOKEHUAX 1IEIH [OCIE COI030B
that — ymo6wsr u lest — umobwi., ne, otherwise — unaue 6wr...:

He helped me greatly otherwise | should not be able to
carry out my work.

OH oyeHbp TOMOT MHC, HUHA4C i OBl HE CMO2 BbINOAHUMb
3Ty pabory.

5. B Geccoro3HBIX YCIOBHBIX MPETIOKEHUIK
Should the letter be brought in the morning, put it on my
desk please.

Ecnu nmuceMo npunecym yTpoM, TOXKaJIyHCTa, TOJIOXKUTE
€ro MHE Ha CTOJI.

6. Should B kauecTBE MOAIBHOTO TJIATOJIA CO 3HAYEHUEM
JTOJKEHCTBOBAHUSL.

One should be careful when crossing the street.
Haoo 6vims ouenv enumamenshvim Py MEPEX0OE YIAULBL.
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Ynpaorcnenue

l'[epeBe):[nTe cjieayrumue npeayioKeHus :

1. The substance under investigation should be examined
both by chemical and physical means.

2. Why should metals, even in the solid state, be excellent
conductors of electricity, whereas salts ordinarily need to be
melted before they conduct?

3. One should keep in mind that the accuracy of Ohm's
law fails for certain solutions when alternating currents of
very high frequency are employed.

4. Should the uniform change in volume continue during
the cooling of a gas to very low temperatures, the gas sample
would have no volume at — 273°.

5. "If the beam of ray in the cathode ray tube is influenced
by a magnet, why should it not be influenced also by an
electrostatic field?" — thought Thomson.

6. In order that this relation should be valid two conditions
must be observed.

7. It was already indicated that we should stop further
discussion of the physical character of atoms and turn for
the moment to another angle of the question of atomic
structure.

8. In order that the number of ions in the stream should
not fall off as the pressure is reduced, the ions were generated
by the action of ultraviolet light on a metal plate.

9. Itis of interest to inquire whether a radioactive charge
should be classed as chemical in character or not.

10. Should the anode grow too hot you must decrease
the power of the transmitter.

11. The same mechanism should be invoked to interpret
the data of Fig. 1 as well.

12. To obtain high current densities in a spot, the spot
should be at high potential.

7. Ynorpe6ienue u nepesoj riaroJja would

1. Would ynorpe6asercs mist 06pa3oBaHus TJIaroJIbHOTO
Bpemenu Future in the Past (¢ 2-m u 3-m numamu):

He said he would help us.
On cKas3all, 4HTO nomoaicem HaM
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2. B ycioBHBIX npeioxeHusx (¢ 2-M u 3-M JTUIaMH):

He would have helped me last week, if he had been in
the town.

OH 6bl noMo2 MHE Ha MPOILIOH HeAeae, eclid OBl OH
OBLI B ropojIe.

3. Would co Bcemu nuiiamu ynotpeoseTcs As BbIpa
JKEHUS TOBTOPHOTO JieiicTBUA B mpouuioM. [Ipu neperoe
MIPH 3TOM JT00ABIISIFOTCS CIIOBA 06bIUHO, HACMO, ObI8ANO:

She would sit at the window for hours.

OHa 6bi6aio yacaMu cudena y OKHa.

4. Would co BceMu nuaMu BeIpakaeT jKelanne (HiIn
HEeXEJIaHUEe) COBEPIIUTH IeHCTBUE:

The doctor insisted that he give up smoking but he would
not.

Bpau HacrauBan Ha TOM, 4TOOBI OH OPOCHJI KypUTh, HO
OH He xomell.

5. Would ynotpebuisieTcst mpy BeXKJIMBOM OOpaIlieHHH:
Would you kindly help me.
byoeme nr06e3nbl, TOMOTHTE, TOKATYHCTA.

Ynpasicnenue

ﬂepeBe;mTe cjaeayruue npeuiokeHus

1. The question is whether a similarly high ion density
would have existed on the axis when the pencil beam is
switched off.

2. The value of the surface energy would therefore be
expected to depend on crack velocity.

3. If the entire Earth were covered by ocean, high and
low tides would follow one another at regular intervals in
response to the rotation of the Earth and the revolution of
the Moon.

4. The kinetic theory and the corresponding molecular
theory of liquids and gases have been of great service in
helping to form mental pictures of many processes which
would be otherwise too difficult to understand.

5. The average depth of the ocean is approximately 13000
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feet. This figure seems large, but if we were to build a scale
model with the Earth as a ball 100 feet in diameter, this
ocean would be less than half an inch deep.

6. For example, if the magnitude and phase of the negative
resistance generator input impedance were largely dependent
on transistor transconductance, the conversion of low-
frequency noise variation in transconductance to signal
amplitude and phase modulation in the Q — multiplied
resonator would result in unacceptable performance.

8. IToBTOpenue ynorpedaenus raaroos should n
would

Ynpasicnenue

IlepeBeanTe cieayioniue MPeNI0KeHHsI, O0bSICHISI YNOTPeOJIeHHe M
3navenue riaroqos should m would:

1. Itis essential you should know that this solution fumes
slightly in air.

2. It should be emphasized that amorphous sulphur does
not crystallize at all.

3. One should always dilute sulphuric acid by pouring it
into a large excess of water.

4. The preparation of highly purified tellurium requires
that more time and labour should be spent than is the case
with sulphur and selenium.

5. From the requirements of the theory of Bohr it is to
be anticipated that the theory would be more accurate the
higher the speed of the particle.

6. If the entire Earth were covered by ocean, high and
low tides would follow one another at regular intervals in
response to the rotation of the Earth and the revolution of
the Moon.

7. Formerly weather forecasts would base almost
exclusively on data secured from the air close to the Earth.

8. In the absence of dust the air would become
supersaturated with water and clouds and rain would be
unlikely to form.

9. Itis natural that aluminium should receive a great
amount of attention from research workers with a view to
improving the mechanical properties of the metal.

10. The kinetic theory and the corresponding molecular
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theory of liquids and gases have been of great service in
helping to form mental pictures of many processes which
would be otherwise too difficult to understand.

9. Vorpebnenue u riepeso riaaroios may (might),
can (could), ought, must, need

MopanbHbIi TJ1aroJ May BbIpakaeT BO3MOXKHOCTh, Be-
POSITHOCTD, MPEINOI0KUTEIHHOCT U MIEPEBOIUTCS TIIaro-
JIOM MOUb WA HAPEUUSMH 803MOINHCHO, 8EPOSMHO; C OTPH-
[IaHWEM — OTCYTCTBHE BO3MOXHOCTH:

He may come every minute.
OH Mmoorcem nputimuy ¢ MUHYTBI HA MUHYTY.
OH, geposamno, npudem ¢ MUHYTHl Ha MUHYTY.

['maronm may B 3HAYEHHWH NPEINONIOKEHUS Yalle YIOT-
pebusiercst ¢ nepPpeKTHHIM HHPUHUTHBOM:

I may have said it.
S, mooicem 6v1mb, U 2080pUTL ITO.

dopma Might BeIpaXkaeT MPEANOIOKEHHE U TIEPEBOIUTCS
(bopmoii cocaraTesbHOr0 HAKIIOHEHHSI MO2 Obl, MOU Obl:

It might happen very soon.
310 Moeno 6b1 npouzolimu OYEHb CKOPO..

dopma might ¢ nepdexkTHbIM UHOUHUTHBOM BbIPAXKaET
HPEANOIOKEHUE, OTHOCSIIEECS K MPOILIOMY:

She might have been thirty-five.
Eit moorcno 6b110 661 0amsb TpUALATE TATH JET.

I'maron may (might) MoxeT ynoTpeOmaThesl B CIISMYIOIINX
TUNAaX NPEIJIOKEHHIM.

1) B moBecTBOBATENbHBIX MPEIIOKEHHUAX C YCTYITUTEIb-
HBIM TpuAaTouHbiM. IIpu mepeBome riaroa may (might)
OOBIYHO OITyCKaeTCsl:
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1. However cold this winter may be we shall skate.
Kax nu xonooma sma 3uma, Mbl OygeM KaTaTbCsl Ha
KOHBKax.

Kaxoti 6b1 x0n00H0U HU Oblia 3ma 3umd, Mbl OyJaeM
KaTaThCsd Ha KOHBKAX.

2. Whenever you may come they will be glad.
Kozoa 6b1 661 Hu npuwinu, oHU OYIyT pPajabl.

2) B moBecTBOBaTEIBHBIX MPEIIOKECHUSAX C MPHIATOY-
HBIMH IICJIH:

He gave me this plan so that | might copy it. On gan mue
3TOT IUIAH, 4umobbl 51 nepenucai ero (Moe nepenucams)).

IIpumeuanue. Beibop (popmbl riarosia may B mpuaaToOdYHOM Ipei-
JIO)KEHHUH 3aBHCUT OT BPEMEHH, B KOTOPOM CTOMT IJIaroJI TJIaBHOTO IPen-
noxkeHust (May yrorpedJisiercsl o OTHOMICHUIO K HACTOSIIEY M Oyaymemy
BpeMeHu, Might — nporeamemy).

Can (could) o3mauaer BO3MOKHOCTH COBEPUICHHS JICii-
cTBMs. B KOHTEKCTE HacTosIero u Oyayiero Bpemenu could
MIEPEBOIUTCS TJIAarojioM Moub B (OPME COCIIAraTeIbHOro
HaKJIOHECHHS — Moz Obl, MO2U Obl:

I could finish my work by December. 5
Moz Obl 3aKOHYUMb PadboTy K IeKadpro.

®opma could gacto ymoTpedssieTcss B BOIPOCHTEIBHOM
NPEUIOKEHNH U BBIPAKAET MPOCHOY:

Could you sing?
A He moznu 6vl BB cnemos?

Could ¢ mephekTHBIM WHOWUHATHBOM BBIPAKAET HEOCY-
IIECTBIEHHYIO B IIPOIIIOM BO3MOYKHOCTh W TIEPEBOIUTCS
Mmo2 6vl, Mo2nu Obl:

They could have done it more carefully.
OHHU moeau 6vl coerams ITO OCTOPOIKHEE.

I'marossr must, need, ought o3nauaroT HEOOXOAUMOCTD
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COBEPIICHUS NEHCTBUA (C OTPHIIAHHEM — OTCYTCTBUEC He-
ob6xomuMocTr); Must u Need mePEBOMATCS Q0ICEH, HYHNCHO,
Heobxooumo, ought — credosano bul, donicen bl Gol.

1. To find v, s and t must be known.
UToOBI HAWTH V (CKOPOCTE), 00IICHbL ObLINb U3BECINHL
(HyorcHo 3name) S (myTh) U t (Bpems).

2. One need not list all the antibiotics isolated.
Hem neobxooumocmu (1e HyscHo) IEPEUUCIATE BCE
BBIJICICHHBIC AaHTHOUOTHKHU.

3. You ought to come at once.
Bawm creodosano 6w nputimu HeMeneHHO.

I'maron must moxet BblpakaTh NpeAnojoxenue. B pyc-
CKOM TIEpEeBOJIC €My COOTBETCTBYIOT HApPEUUsl 0UeBUOHO, HA-
eeproe: Venus must be highly unsuited to the support of life.
Benepa, ouesuono, COBEpIIEHHO HenpueoOHa ISl CYIECTBO-
BaHUA KaKUX-ITU00 GOPM KUZHHU.

Ynpasicnenue

ﬂepeBe}lnTe cieaymumue npeajiokeHusd, oﬁpamaﬂ BHUMAaHHE HA rJja-
roJisl may, might, could u ought:

1. In general solids may be good conductors or poor.

2. Of course the ancients did not know why amber could
attract the light objects.

3. This substance might be an insulator or a conductor.

4. Let us picture what ought to happen provided there
were a conducting wire between two points of unequal
potential.

5. From the reservoir the water was directed through a
channel to some point where it could fall through steel pipes.

6. In order that the compound might be used it had to
be purified.

7. However that might be, the repair was ordered to be
exec u ted.

8. Important as this question may be in itself, the debate
on the subject went far beyond its original bounds.
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10. O61iee NOBTOpeHHUE €OCIAATATENHLHOTO HAKJIOHEHHS,
YCJA0BHBIX NpeJiokeHuii n raaroaos should, would,
may, might u could

Ynpasicnenue

IlepeBenuTe ciaeayronue NpeaIoKeHUs:

1. If we had a really pure insulator it could not be heated.

2. Earth behaves as though the attractive force were acting
at its centre.

3. It is of interest to inquire whether a radioactive charge
should be classed as chemical in character or not.

4. No fuel would burn in an atmosphere deprived of its
oxygen.

5. The early alchemists searched for a fluid which would
dissolve gold.

6. The chemistry of radium resembles that of barium as
we should expect from the position of these two elements
in the Periodic Table.

7. If the distance to the star be known, its candle power
can be judged from its apparent brightness.

8. There are many reactions which the chemist would
like to speed up; there are other reactions which we should
like to retard.

9. Should the anode grow too hot you must decrease the
power of the transmitter.

10. In view of the recent discovery of the positron, one
might suspect that these particles are extremely rare in nature.
Such is by no means the case.

11. The purest natural water is rain. Chemists, however,
would hardly consider it as being really pure.

12. First of all it should be emphasized that atoms and
molecules are infinitely small, so small that it is really
impossible for us to appreciate their masses.

13. The velocities are greatest in solids, which is what
one would expect since their elasticities are normally higher
than those of liquids or gases.

14. In order that a compound be in the large group of
substances termed acids, it must have the following properties.

15. A gas in the normal state conducts electricity to a

slight extent, however small the electric force may be.

16. Faraday stated as one of the laws of electrolysis that
the mass of the substance liberated at an electrode would
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be directly proportional to the quantity of electricity sent
through the solution.

17. One should carefully observe the definitions above
given of the words force, energy and power as any want of
clearness of ideas is fatal to an exact knowledge of physical
facts.

18. One of the most remarkable features of a seam of
coal, whatever its geological age may be, and in whatever
part of the world it may occur is its purity.

19. If the neutron and proton had the same mass, and
if the Coulomb energy were completely negligible, there
should be a definite correlation between the energy levels of
isobars.

20. Should the contents of this volume prove of any
assistance to others in enabling them to proceed with the
study of more advanced treaties, the author will feel amply
rewarded for his task.

21. Batteries performing innumerable useful services, one
can hardly imagine how we could do without them.

22. If we were to stand motionless and hold a weight in
our arms, we would grow tired, but we would not be
performing work in physical sense of the term.



